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B.Com. 1* Year

2049
ENGLISH

Paper : I : English and Business Communication Skills

Time Allowed : Three Hours] [Maximum Marks : 80

Note :— Attempt all the questions. There is only internal choice.

I. (@ Narrate in your own words the story of "Fur".
OR

'Summarise Lucas' observations on the characteristics of
bores.

(b) What is the message of Tagore's play "Chandalika" ?
OR

Attempt a character-sketch of Hughie Erskine in the story
"A Model Millionaire". 10x2=20

II.  Write a letter of complaint to the Railway authorities about non-
arrival of your goods.
OR
Write a letter to the manager of a bank asking him to extend the

date of repayment of your loan citing reasons for your inability to
pay in time. 8
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III.  Write a report by a management consultant on controlling raw .

material costs.
OR
Write a report from the Development Manager of a bank about
the desirability of shifting the bank to new premises. 10
IV.  (a) Draftapublic notice about the opening of a beauty parlour |
OR about a public meeting to condemn terrorism.

(b) Invite tenders for the sale of old computers by your company
OR for supplying furniture to your cyber cafe.

(c)  Write an auction notice for the sale of scrap from your factory
OR for the sale of one-room flats at Baddi in Himachal
Pradesh.

(d) Draft an office memo to an employee reprimanding her for
knitting during office hours OR to all employees about the
need for being courteous to visiting customers.  3x4=12

V. (@ Give the meaning of the following words :
Indolence, ultimate, crux, red tape.
(b) Distinguish between the following pairs of words by using

, (i) birth, berth. _
(c) Match the wordsin Column A with their meanings in Column

B- : . 7

Column A Column B

(1) Ecology To begin with

. (i) Initially Anger _
(ii) Enhance Study of environment
(iv) Fury Increase 4x3=12
0801/COE-4561 2 [Turn over
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them in sentences :
(i) adapt, adept

.
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Write notes on any two of the following :
Barriers to communication, informal communication,

non-verbal communication, teleconference. 8

Read the following passage carefully and answer the questions
given at the end :

A religion is away of life based ontenets (or a belief system) about
the ultimate power. It is generally expressed through conducts such
as prayers, rituals, or other practices, often centered upon specific
Supernatural and moral claims about reality (the cosmos, and
human nature) which may yield a set of religious laws. Religion also
€ncompasses ancestral or cultural traditions, writings, history, and
mythology, as wel] as personal faith and religious experience. The
term "religion” refers to both the personal practices related 1o
communal faith and to group rituals and communication stemming
from shared conviction, "Religion" is sometimes used interchangeably
with "faith or "belief System," but it is more socially defined than
personal convictions, and it entails specific behaviours, respectively.
() Whatisreligion ? ' ‘
(@ Howisit usually expressed ?

() What is the relation between religion and culture ?

(iv) Isreligion only a belief system ?

(v)  Give asuitable title to the passage. 10

0801/COE-4561 3 7500




'9\/' Printed Pages: 2 ROM Ngi.cco.cccciiis S oaneasnntad
(ii) Questions : 7 Sub.Code: |0[8]0]2

Exam.Code: |1 |12

B.Com. 1* Year
-~ 2049
PUNJABI
Paper: 11
Time Allowed : Three Hours] [Maximum Marks : 45

Note:-(i) foutst e 2 AUAE &9|
(i) FAI®3YTV w3 VIIfex g Qua It 3% a9 |

L ‘WA Ror e fenrma’ niftmrfe feg nre fegrgt °3 gour &9
Eu
‘A3 ¥§ = wiar’ wifterfe T mrg fay 8

AL HoT wsar fils-aig €30 filw’ iz o8 faodhr-faashr
aeaaav?ﬁnfrﬂzﬁwaﬁwrraﬁ ?

A

‘Ifanit &% ISt M@M%Bﬁwmm
Fa—f‘en?wzrr%eﬁwr% 83" T AYy TIs a9 7

1L I fou fefirt fog fait fea fei Sua fad fiwg -
(®) g9t g9 few I8 v w39 T e
() A'® 25-%9 3 gahut
() ni3T-THeT wirdaee
(7) fEeId e 10

0802/COE-4562 [Turn over




|

P R

m W IV. uw%m%a@ﬁ%ﬂa?;wa?aw@zﬁm ;

n at
y U nEd fe8 wia Ba1 7E F9E I saAs T
v m%m@ﬂéﬁa"uﬁéﬂ%ﬂagmmls
th
V. (8) 5 fou muet § ¥ q9a fea-
V. 3THNE, J5d, BedE, gug
(1) feraH fig &6:-
@ mﬁ%m@mﬁwmﬁw@ﬂ%u@a@t
T |
(¢ - (®) FE  yo=font ¥ nieg TRE Tw w6 -
J8 Ul a9a, dier soe, Ft9 gu, o= Fus i
( 2+242=6

VL. J5 fou ferfsog e damdt nigee 53—
' : "The Tribune Trust does not take responsibility for the contents of -
r the advertisements carried in this newspaper. Readers are requested |
V. £ to verify the contents on their own before acting thereupon." =~

4

E VIL 35 i et meet @ et gy fs
t Amalgamati_on, Break-Even Point, Deflation, Fair-Trade,
|
i

. Fiscal-Year, Floatation, Hoarding, Imprest Account, J obbé;, Over
( Head Cost. 5

0801, 0802/COE-4562 5600




@

(i)
(i)
(iv)
V)
(vi)
(vii)
(vii)
(ix)
)

(1) Printevaages: & Roll No.
(i) Questions :9 Sub. Code: [0[8]0]7

Exam.Code: [1][1]2

B.Com. I'* Year
2049

HISTORY CULTURE OF PUNJAB FROM 1200-1849 A.D.

Paper : II

Time Allowed : Three Hours] [Maximum Marks : 45
Note :— (i)  Attempt five questions.

‘ (i)  Question No. 1 is compulsory.

(i) Forrestof four questionsattempt one question from each

Unit.

Attempt any nine questions of the following in about 25-30 words :

What were the divisions in the Hindu Society of the medieval
Punjab ? !

Name some social reforms attempted by Akbar.

Name four Hindu Saints of Bhakti movement.

What do you mean by Shia-Sunni muslims ?

What do you know the institution of'Gurgaddi' in Sikhism ?
What do you understand by 'Pangat' ?

What was the significance of adoption of Gurumukh1 script ?
What was Manji System ?

When and by whom Adi Granth was composed ?

What were the main consequences of the martyrdom of Guru
Tegh Bahadur Ji ?
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(xi) Name the four writings of Gury Gobind Singh Ji.
(i) In whose names Banda Bahadur issued coins ?

(xiii) Name European officers of Ranjit Singh’s Court.
(xiv) What was the position of female

education in medieval
Punjab ?

(xv) Name two famous folk tales of the medieval Punjab.
9x1=9
UNIT-I
Describe the social, cultural and

religious condition of the Punjab
during the Mughal rule.

9

Describe the salient features of the B

hakti movement and Sufism
in Punjab.

9
, _ UNIT-I1
- 4. Describe the development of Sikhism under Guru Amar Dass Ji.
: . 9
! 5. Discuss the causes and significance of the martyrdom of Guru Arjun
Voo o - Dev Ji. 9
: ¥ UNIT-III
l v 6.  Whatled to the creation of Khalsa ? What was its significance ?
: : . .
. e 7.  Discuss briefly the early career and conquests of Ranjit Singh.
f oy 9
’ UNIT-IV
8. Discuss the development of language and education during the
3 - medieval Punjab. ‘ 9"
L 9. Describe the folk tales of Puran Bhagat and Sohni-Mahiwal.
b : 9
0807/COE-4566
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COMMERCIALAND LABOUR LAWS
Paper : I11

Time Allowed : Three Hours] [Maximum Marks : 80

Note :— (1) The question paper is divided into three Sections A, B
and C.

(2)  Attempt any four questions from Section A. Each carries
5 marks.

(3)  Attempt two questions each from Section B and Section
C. Each'question carries 15 marks.

SECTION-A
Distinguish between wagering and contingent contract.

What are the rights available to consumers under Consumer
Protection Act ?

What are the matters specified in the third schedule of Industrial
dispute act ?

What is the difference between Cheque and Bill of exchange ?

A consigns 300 cases of tea to B Who has advanced amount to
him and desired B to sell the tea and to repay himself out of the

Price, the amount of his own advance. A wants to revoke the
authority. Decide.
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X, enters in a restaurant for dining. His bag contains some importan
document, was taken by a waiter at the gate, who placed it at 2
shelf behind X. After having his dinner, when X rose to leave the

bag was gone. X wants to hold the proprietor liable for the loss
Decide.

SECTION-B

'Consideration is a necessary element in the binding of contract.’
Discuss with exceptions to the rule.

Explain the term 'Tender'. What are the essentials of a valid tender ?
State the effect of refusal to accept a tender.

What is the difference between Indemnity and Guarantee ? What
are the circumstances under which the surety can be discharged ?

What is the procedure for filing complaint and procedure on receipt
of complaint under Consumer Protection Act, 1986 ?

SECTION-C

What is delivery of goods ? What are the rules regarding delivery
of goods ?

Write a detailed note on negotiation of Instrument.

State the Provisions of Factories act 1948 regarding employment
of women and young Persons.

State the provisions of Industrial dispute act 1947 regarding Lay
off and retrenchment.
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2049

BUSINESS ORGANISATION AND MANAGEMEN T
Paper: vy

State the various clauses of "Charter Party",

What are the advantages of Listing of Securities 9

What do You understand by "Future Contracfs" ?
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10.

11.

12.

13.

14, Describe the process of MBO. Discuss its advantages and limitations,

0805/COE-4565

SECTION-B
Attempt any twe questions. Each

question carries 15 marks.
What do you understand by optim

um firm ? Explain the force

that determine the optimum size of the business unit.

What do you understand by business combinations ? Explain the
causes that lead to combinations jn the business world.

Explain "PERT and CPM"

as a contro] techniques. Discuss their
advantages and limitations,

What are the main features of motivati

on ? Compare "tlineory-X "
and "theory-Y™

of human motivation.
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2049
BUSINESS MATHEMATICS AND STATISTICS
‘ Paper : VI
lime Allowed : Three Hours) [Maximum Marks : 80
SECTION-A —— i
(Attempt any four parts. Each carries 5 marks. ) s |
(@) Calculate the mean and standard deviation from the following
data :
Value : 90-99  80-89  70-79 60-69 50-59
Frequency: 2 12 22 20 14
Value : 40-49  30-39
Frequency: 4 1

(b)  Solve the following system of Equation by Inverse method :
2, -x,+3x,=9
Xz — Xy e 1
X, tx,-x,=0

(c) The difference between Compound Interest and Simple 1

Interest on a certain sum of money at 10% per annum for A
2 years is Rs. 40. Find the sum.

0806/COE-5297 1 [Turn over




(d) Explain the uses of Regression Coefficient.
() Explain the limitations of Index Number.
(f) Define Purposive Sampling. List various techniques o

Purposive Sampling.
SECTION-B
(Attempt any two questions)
II.  "Linear Programming is one of the most frequently and successfully
applied approach to managerial decisions." Discuss. 2x15
III.  Find the missing information from following :
Group- I Group- I Group-IlI Combined
Number 50 ? 90 200
Standard
deviation 6 7 ? 7.746
Mean 113 ? 115 116
Ve IV.  Calculate Laspeyre's, Paashe's and Fisher's indices from the following
v data. Also examine which of the above indices satisfies
! @ TRT
- (i) Factor Reversal Test
Base Year Current Year
" ‘ Commodity Price  Qty. Price  Qty.
A 6.5 500 10.8 560
B 2.8 124 2.9 148
7 C 4.7 69 8.2 78
1 D 10.9 38 13.4 24
4{ E 8.6 49 108 27
1 0806/COE-5297 2 {Turn over
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Compute the Trend Values on the method of least squares from

the data given below :
Year : 1992 1993 1994 1995 1996 1997 1998 1999
No. of

Shop (inlakh) 56 55 51 47 42 38 35 32

SECTION-C
(Attempt any two questions)

Attempt all parts :

(a) Define Biased and Unbiased Eﬁ'or.

{¢) Explain Feasible solution and Optimal =olution.

(c) Discuss the importance of Indusiriai statistics in India.
2x15

. A Computer While Calculating Correlation Coefficient between

two variables X and Y from 25 pairs of observations obtained the
llowing results : ’
=25 egx=125 ex* =650 gy =100
£yt =460 gxy = 508

it was however discovered at the time of checking that two
pairs of observations were not correctly copied. They were taken
as (6,14) and (8,6) while the correct values were (8,12) and (6,83).
Prove that the correct value of the correlation coefficient should
be 2/3.




VIIL From the following table, find the number of workers falling in
earning group of Rs. 25 to Rs. 35 :
" Eamingin Rupees ; . No. of Workers
up to 10 50
mrr20 150
30 300
40 500
50 700
60 ' 800

For a group of 1000 candidates known to be normally distribute
the mean is 534 marks and standard deviation is 13.5 marks. Hoy

- many candidates are likely to get more than 561 marks ? Hoy
many will get between 520.5 and 547.5 marks ? Between wha
limits of marks will be middle 50% candidates lie ?

0806/COE-5297
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COMPANY LAW & AUDITING

T A O O B DS o e P

. Paper: 1
I in;.e Allowed : Three Hours] [Maximum Marks : 80
g SECTION-A
Attempt any four questions, each carries 5 marks :

Define Private Company.
Explain Govt. Company.
F3; ‘ édst autiit.
| "-'Cash audit.
Rohit Pvt. Ltd. was incorporated on I* Oct. 2007. Its First Board

meeting was held on 30" Oct. 2007. However, the Board could
not appoint auditors of the company. Advise the company.

Accounting year of a public limited company closes on 30 June.
It held its last annual general meeting on 3 1% August 2000. Your
advice is sought as to whether it can hold its next apnual general
meeting either on 31 Dec. 2001 or 31 Jan. 2002. Advise.

_ ﬁfﬁ(‘fOE-4567 [Turn over -




R el SECTION-B
Attempt any two questions, each carries 15 marks :

1.  "An outsider is entitled to presume the regularity of internz
proceedings of a company." Discuss with examples.

2. Write adetailed note on "BUY BACK of Shares" by a Joint stocl
Company. 3

T

3. Whatare the provisions of the Company Act regarding "Reductior
of Share Capital" by different modes by a Company ?

4.  Write short notes :

(a) Share Qualification
N : (b) Number of Directors
(¢) Removal of Directors.

SECTION-C
| Attempt any two questions, each carries 15 marks :

1. Whatdo youmean by Auditing ? Discuss its objects and advantages.ﬂ

2. What is Internal Check ? Suggest a suitable system of internal
check to record sales and purchases. k

3. What is Auditors Report ? What are its contents ? Give the ~
specimen of a Qualified Report.

4. How is the auditor of a company appointed and removed ?

0811/COE-4567 6200
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2049
CORPORATE ACCOUNTING
Paper: 11

te :— (i)  Attempt four questions from Section-A. Each question
carries 5 marks.

(i)  Attemptany two questions from Section-B. Each question
carries 15 marks. :

(i)  Attemptany two question from Section C. Each question
carries 15 marks.

SECTION-A
Explain the provisions of Section 529 A of Companies Act 1956.
| 5
Pass Journal entries for Buy Back of shares. 5

5

A company offers to its shareholders the right to buy 2 shares at
Rs. 130 each for every 5 shares of Rs. 100 each held in the
company the market value of the shares is Rs. 200 each. Calculate
 the value of right. <5

me Allowed : Three Hours] [Maximum Marks : 80

Give the accounting treatment for Redemption of Preference shares.

1812/COE-4568 1 [Turn over
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V. Anlut Ltd. issued debentures at 94% for Rs. 500,000 on I* April, V.
1994 repayable by five equal annual drawings of Rs. 1,00,000
~each. The company closes its accounts on calendar year basis.

Indicate the amount of discount to be written off in every accounting
year, assuming that the company decides to write off the discount

during the life of the debenture. Also prepare discount on issue of k

debenture account. - : 5

.

Mex Ltd. issued 5,000 shares of Rs. 100 each at a premium of

15%. Ninety per cent of the issue was underwritten by M/s. Yash
& Co. at a commission of 1% of the niominal value. The public
applied for 4,000 shares and allotment was accordingly made. All
the amount due from public was received in one instalment.

M/s.Yash & Co. fulfilled his obligation. Show Journal entries in }

books of Co. , 5

SECTION-B
Write short notes on : , °5,5,5
(&) P&L Appropriation Account
(b) Provisions of section 79
(c) Stepsin preparation of Underwriter Account.
Prepare the Revenue Account of General Insurance Co. with

imaginary figures. ' 15

Loan ledger of a bank showed an unsecured loan of Rs.1,00,000
to a client on 31 March 2007. Interest on loan has accrued upto
Rs.10,000. The financial position of the client is reported as doubtful.
During 2007-08 bank accepted 75 paise in full satisfaction of debt
on 31 March 2007. Show Journal entries and ledger Accounts

under each of the alternative methods. 15

Murn ever
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at par on the above date. 1000 of the redeemable preference
shares were forfeited for.-non payment of last call of Rs. 25; 800

of which has been reissued as fully paid for Rs. 60 a share. The -

balance of profit and loss A/c was Rs. 12,10,000 and general

s April, [V. A Ltd. Company issued 25,000@ 7% redeemable.preferencévf.l’
| shares of Rs. 100 each at par. At 30" June 2008 the shares are ~
to be redeemed at Rs. 110 a share and for the purpose of assisting ‘_

the redemption, 1,50,000 equity share of Rs. 10 each were issued -

reserve Rs. 300,000. On the same day as the redemption took

place, a bonus share dividend was declared'of Rs. 12,50,000. . .
Show the ledger accounts as on 30™ June 2008. 1535

SECTION-C
Write short notes on :
(a) Intrinsic \'/alue of shares.
(b) How Purchase consideration is calculated under Net Asset
method ?

(¢) Liquidator Final statement of account. 5,5:9 (o

Lalu Mining Co. Ltd. went into voluntary liquidation on Jan. I**

2006 as its mines became unusable. The liquidator whose
remuneration is 3% on realisation of assets and 2% on distribution

among shareholders. The following was the position of the Company
as on 31% Dec. 2005.

Rs.

Cash on realisation of assets 2,50,000

- Expenses on liquidation g 45,00
Unsecured creditors 34,000

(including wages for one month prior to liquidation Rs. 3,000)

-

ver




2,500, 6% pref. shares of Rs. 30 each 75,00ii)
(Dividend paid upto 31* Dec. 2004)

- 5,000, Equity shares of Rs. 10 .‘
each, Rs. 9 per share paid. 45,00(
General Reserve as on 31% Dec.,2005) 60,000

P&L Accpunt as on 31st Dec. 2005. :
(1)1

Under the article of association of the company, preferenci
sharehqlde_rs have the right to receive one fifth of the surplu
remaining after repaying the equity share Capital. 14

III. 'What is Internal Reconstruction ? Explain its procedure and entrie:
in the books of Company. 55,3

IV. (a) Calculate the value of goodwill at 2 year's purchase of supe,
profit from the following information. L

‘Average Capital employéd Rs. 12,00,000. Compan)

declared dividend 15% on share of Rs. 20 paid up bu

quoted in the market at Rs. 25. Trading

profit for three year Rs. 2,15,200, Rs. 1,81,400, Rs. 2,25,00(

(b) Thecapital of C Ltd. consist, of 1,000, 6% preference shar¢ |
(Participating) of Rs. 100 each and 4,000 equity shares o.’

Rs. 100 each, all fully paid. The preference shares are entitlec

to participate in the surplus profit upto 4% after payment of

equity dividend of 10%. The profit after taxation Rs. 70,000

The normal return expected on equity shares at 10% and or

Pref. shares is 8%. Compute the value of Pref. share and

equity share. ' 5,10

: i '
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COSTACCOUNTING '

- Paper : IIT
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[Maximum Marks : §0
Note :— Students should attempt four questions from Section-A

question carries 5 marks) and two questions each from Se

B and Section-C (each question carries 15 marks). Use o
programmable calculator is allowed.

(each
ction-
fnon-

SECTION-A
1. Explainthe concept of "ABC Analysis" as a technique of inventory
control. 5
Write a detailed note on target Costing. 5
3. Calculate EOQ from the following :
S Annual consumption ~ : 800 units
! Price per unit :Rs. 30
Annual return on Investments: 10%
Rent, insurance and taxes Per unit per year : Re. |
) Cost of placing one order : Rs. 100 5
' 4. Thestandard material required to produce one unit of product A
| is 5 kgs and standard price perkg. of material is Rs. 30. The cost
] accountant's records, however reveals that 16,000 kgs, of material
27 costing Rs. 5,20,000 were used for producing 3,000 units of
1 ~ productA. Calculate variances, 5
5. Distinguish between Flexible Budget and Fixed Budget. 5
0813/COE-4631 1 [Turn over




6.

~ Mr. Harish furnishes the following data relating to the manufactﬁ;e

, ofaproduct during the month of April, 2008. 3
Raw material consumed Rs. 15,000
Direct labour charges Rs. 9,000
Machine hours worked 7 900
Machine hour rate Rs. S
Administrativeoverheads .~ 20% on works cost
Selling overhead J Re.0.50 per unit
Units produced : 17,100
Units sold 16,000 at Rs.4 per unit
Prepare Cost Sheet showing cost of production per unit and profit
for the period. : : 5
SECTION-B
| 7.  Define and distinguish between Cost Accounting and Financial
/ Accounting. 15
8. Distinguish between :
(a) Bin Card and Stores Ledger
(b) Normal idle time and Abnormal idle time
(c) Apportionment and Absorption of overheads. i o
9. From the following particulars work out the earnings for the week
of a worker under :
(a) Straight piece rate system
% (b) Differential piece rate system
} (c) Halsey premium system
T (d) Rowan system.
E ' Number of working hours per week ' 48
j Wages per hour Rs. 3.75
Rate per piece Rs. 1.50
, Normal time per piece 20 minutes
i Normal output per week 120 pieces
R Actual output for the week 150 pieces
B Differential piece Rate : 80% of the piece rate where output is
f below standard and 120% when above standard. 15
£
* 0813/COE-4631 "2 [Turn over.
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. Compute the Maching Hour Rate from the following data :

Rs. iy

Cost of machine ' , a 1,00,000
Installation charges 10,000
Estimated scrap value after the explry ofits life et
(15 years) : Ao 5000 7
'Rent and rates for the shop per month 200 AL
General lighting for the shop permonth 300 "k N L}
Insurance premium for the machine per annum 960 i, fﬂ:
Repair and maintenance expenses perannum -~ 1,000 3o
Power consumption — 10 units per hour . SN il
Rate of power per 100 units 20 L A
Estimated working hours per annum 2,200
This includes settirig-up time of 200 hours ) 3
Shop supervisors' salary per month , 600

The machine occupies 1/4th of the total area of the shop. The'
supervisor is expected to devote 1/5th of his time for supervxsmg
the machine. 15 i -

SECTION—C

11.  Write short notes on the following :

(@) JobCosting

(b) Batch Costing R

(c) Costplus contracts. 555
12.  What is Budgetary Control ? State main objectives of Budgetary =

control. What are the main steps in budgetary control ? - 15 : . B
13.  The product of company passes through three different processes
/A, BandC. It is ascertained from the past experience that the_ %

- loss in each process is incurred as under : e
Process A : 2% , Process B : 5%, Process C : 10%

The percentage of loss in each case is computed on the basxs b :
of number of units entering the process concerned. e

0813/COE-4631 o' [Turﬂ:ii{‘?lg 2




The loss of each process has scrap value. The loss of Process
A and B is sold at Re. 1 per unit and that of process C at Rs.4 b @
per unit. ..
The company gives you the followmg information for the month‘ L@
of July 2007 :-

2,000 units of crude material were introduced in Process A
at a cost of Rs. 8 per unit. Besides this the following were othe.

expenses :
: Process  Process  Process 9
A B C L
Materials consumed 8,000 3,000 2,000
Direct wages 12,000 8,000 6,000
Works expenses 2,000 1,000 3,000
Output _ 1950 1925 1590
Stocks: July1 200 300 500
July 31 150 400 .
Stock :  valuation on Rs. Rs. Rs. -
July 1, perunit 19 27 36.5
Stock on July 31, 2007 are to be valued at Cost as shown by 1.

months' production account. Prepare the process Accounts. 15
- 14. The sales and profits during two years were as follows :

o Sales Profit 2
' Year Rs. Rs. '-
; 2005 1,50,000 - 20,000 . 3.
2006 : 1,70,000 25,000
You are required to Calculate : ,
(a) P/vRatio v ’
(b) Break-even point
(c) The sales required to earn a profit of Rs.40,000 S5

Y (d) The profits made when sales are Rs. 2,50,000
(e) Margin of safety at profit of Rs.50,000
() Variable Costs of the two periods. ' 15

4
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- BUSINESS ECONOMICS
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[Maximum Marks : 80
Attempt any four questions from Section A. Each question
in Section A carries 5 marks.

(i) Attemptany two questions, each from Section B and C.
Each question in these Sections carries 15 marks.

e ST SROTON A
Attempt any four questions :

4

Why does the demand curve slope downward ?
2. State the law of Equi-marginal utility.
3. Write a short note on Breaktﬁven Point.
What do you ﬁnderstand by "Shﬁt Down Point' ?
- Whatis price discrimination 2 When is it feasible ?
6. Explain 'Say's Law of Market'. 4x5=20
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SECTION-B

What is consumer equilibrium 2 Explain consumer equilibrium
with the help of utility analysis. 1

2. Whatare indifference curves ? Explain their proberties. 1
3. Whatdo economics of scale mean ? Explain their various type
1 '«

4. Explain the meaning and salient features of monopoly. Discuss pric
and equilibrium determination in monopoly market in short run and

long run. 1

SECTION-C

1. Discuss Ricardian Theory of Rent. 15
2 Analysé and evaluate Keynes Theory of Income and Employment.
' F15
3. Distinguish between Autonomous Investment and Induced
Investment. Give an account of factors affecting level of investment

in an economy. 15

What is multiplier ? Explain its forward and backward working.

15
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Time Allowed : Three Hours] [Maximum Marks : 80
Note :— (1) The question paper is divided into three Sections.
(2) Attempt four questions from Section A carrying 5 marks
, each. o ' A
(3) Attempt two questions each from Section B and Section C.
Eacthuestion carries 15 marks.

SECTION-A _
What are the modern functions of Commercial Banks ?

What do you mean by open market operations ?
Write short notes on Bank rate.

Do the People prefer endowment policy to whole life Policy ? If
- yes, why ? ‘

What is the role of Causa Proxima in the settlement of claims ?

6. Write short notes on E-Banking.
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SECTION-B
1. Discuss the impact of Banking reforms on organisational structure
of Banks with SBI as Model.

2. What are the factors to be considered in evolving a strategy for

mobilisation of deposits ? What type of schemes can be floated
to attract more deposits ?

3. Define a Central Bank. What are the functions of a Central Bank ?

4. Write a detailed note on the Working and Performance of mutual
funds in India.

SECTION-C
1. Define Insurance. What are the functions Performed by Insurance ?

2. What are the objectives of Privatisation of Insurance in India ?
Explain the progress made in this respect.

3. Whatare the Duties, Powers and Functions of IRDA as prescribed
under the provisions of IRDA act, 1999 ?

4.  Critically examine the growth of Non-life Insurance after
Nationalisation of this business and now after Privatisation.
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Note :—  Attempt any four questions from Section—A and two questions
cach from Section-B and Section—C.

 SECTION-A

What are the basic conditions of Central Excise Duty Liability ?
) 4x5

Explain in brief the types of 'Goods' under CST.

Explain the types of customs duty.

Calculate the assessable val/ue for the purpose of levy of excise

duty from the following particulars :

@) - Cum-duty selling price inclusive of sales tax @ 4%
Rs. 62,720 : ;

(i) Rate of excise duty applicable 16%

(i) Trade discount allowed Rs. 2,400

(iv) Freight (to be i:harged extra) Rs. 2,000.
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An Indian dealer imported 30 machines from Amerid
@ 200 Dollars per machine. Following expenses are not includé
init: |
(i) Packingcharges 10 Dollars per machine
(i) Transportation charges to Indian port 100 Dollars
(i) Transit insurance premium 30 Dollars
(iv) Brokerage (excluding buying commission) 60 Dollars
(v) Thedealerincurred the following expanses after delivery a
port :
(a) Transportation from port to his godown Rs. 3,000
(b) Insurance premium Rs. 5,00
() Octroi Rs. 2,000
Note : Exchange rate is Rs. 49 per dollar.

Total sales of a dealer is Rs. 21,22,000. Compute taxable turnove
under CST from the following information :

Rs.
(i) Sales of exempted goods 4,00,000
(i) Sales within the state 6,00,000
(i) Exports from India 30,3000
(iv) Inter-state sales on form C 3,29,000
(v) Outofsalesin (iv) sales return
within 6 months are 20,000
(vi) Subsequent sales during Inter—state
trade to registered dealers ’ 2,50,000
(vii) On other Inter-state sale the rate of tax is 10%
SECTION-B
VIL. Explain the important provisions of Customs Act with regard to
penalties. _ 15

T e e 8 et ot
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VIIL Explain the provision of CST Act regarding registration of
dealers. 15

What is value-Added Tax ? How is it calculated ? Give its
advantages. . ' 15

Compute the amount of Tax payable by the dealer under CST
Act. The amount of tax is not 1ncluded in the sales S
Rs.
@) Sales of goods on form D to State Govt. .
~ outside state. ~10,00,000
(i) Salesof undeclared goods to registered
' dealers on form C. The rate of tax on such
goods is 3%. 1,00,000
‘Sales of undeclared goods to regxstered
dealers, which are not given on their registration
certificates. The rate of tax on such goods
is 7%. : 2,50,000
iv) Sales of goods to registered dealers on form C.
~ The goods are for resale which are given on
their registration certificates. 15,00,000
Sales of declared goods unregistered dealers.
The rate of tax on such goods is 3%. 5,00,000
Sale of Agricultural implements (Tax free). 100,000

Sale of other tax free goods. 30,000
3 Sale of undeclared goods to a registered '

dealer on form C. The rate of tax on such

goods is 2%. ' 76,500

SECTION-C .
XI. Whatis Service Tax ? Explain the important features of service
tax. How is it computed ? 15
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XII. Describe the various authorities for administering the law of Central
Excise in India. 15

XIII. What is CENVAT ? Explain the provision regarding CENVAT
credit. 15

XIV. A Company manufactured 12000 coloured T.V. during the year.
Determine the excise duty payable from the following particulars :
@i Retail price of T.V. Rs. 15,000. It includes excise duty
(i) Sold 8,000 T.V. to wholesalers. Discount allowed @ 20%

on retail price
@) T.V.sold in retail Rs. 2,000
(iv) The Balance 2,000 T.V. not removed from factory
(v) The company purchased inputs for manufacture of T.V.
Rs. 3,00,00,000. It includes basic excise duty Rs. 40,00,000
(vi) The closing stock of inputs is Rs. 25,00,000
(vii) The company is liable to pay basic excise duty @ 16%
(vii) The rate of Abatement allowed is @ 35% of selling price.
15

0816/COE-5267 4 6200




(i) Printed Pages: 2 Roll No.

Questions : 14 ' Sub. Code : 0
Exam. Code: |1

B.Com. (Hons.) 2™ Year
2049
- BUSINESS FINANCE AND ACCOUNTING
Paper : I : Financial Management

e

Time Allowed : Three Hours] [Maximum Marks : 80

Note :— Attempt any four questions from Section-A, two questions
" from Section-B and two questions from Section-C.

. SECTION-A
_ Discuss in detail the role of financial manager in the era of
- globalisation.

Describe the relevance of cost of capital in Capital Budgeting
decisions.

S — —-"’-—-——-.___.—-,_L,__v it

Define Bond.
Explain in detail Unique risk and Market risk.

. What do you understand by Working Capital ? Explain the concept
~ of Working Capital.

6. Describe the concept of self financing. 4x5=20
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SECTION-B
Describe in detail meaning, scope and objectives of financial
Management. ' 15

Explain in detail with the help of example compounding techniques |
of time value of money. 15

Write a detailed note on operating and financial leverage. 15
Discuss in detail the essential feature of Leasing. 15

SECTION-C

Write a detailed note on depreciation policies followed by various
: ' 15

organisations.

What are the special pro_blems faced by Small Scale Industries ?
15

Explain IRR and NPV with the help of example. 15

Discuss the motive that a company may have for holding liquid .

Assets. Explain the costs and benefits associated with holding

liquid Assets. 15







